Potencias de 10 (C)

Calcule los siguientes productos y cocientes.

7.0097 x 102 8.1818 x 1072
5.2054 + 1072 1.4057 =102
9.4082 + 102 5.3539 + 1072
1.4117 x 1072 3.0059 x 102
8.7295+ 1072 3.1053 x 1072
3.348 + 102 7.5062 x 102
4.6534 x 1072 5.7712 x 1072
8.2861 1072 6.5295 x 1072
8.3701 x 1072 9.434 x 102
6.9389 x 102 3.5638 x 1072
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Potencias de 10 (C) Respuestas

Calcule los siguientes productos y cocientes.

7.0097 x 102 8.1818 x 1072
0.070097 0.081818
5.2054 =102 1.4057 =102
520.54 140.57
9.4082 ~ 102 5.3539 =102
940.82 535.39
1.4117 x 1072 3.0059 x 102
0.014117 0.030059
8.7295 = 102 3.1053 x 102
872.95 0.031053
3.348 = 1072 7.5062 x 102

334.8 0.075062
4.6534 x 1072 5.7712 x 102
0.046534 0.057712
8.2861 - 102 6.5295 x 102
828.61 0.065295
8.3701 x 102 0.434 x 1072
0.083701 0.09434
6.9389 x 102 3.5638 x 102
0.069389 0.035638
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